Total No. of Printed Pages—5
3 SEM TDC BNL MIL (C) 2

2017
( November )
BENGALI

( Modern Indian Language )

( Commerce )

Course : 302
" Time: 3 hours

The ﬁgures in the margin indicate full marks
for the questions

Candidates eligible for Intermnal Assessment shall -
answer Question Nos. 1to 7

- Full Marks : 80
Pass Marks : 32 | 24

Candidates not eligible for Internal Assessment shall
answer Question Nos. 1 to 8

Full Marks : 100
Pass Marks : 40 / 30
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Ad valorem duty ; Disbursement account ;
Accommodation bill; Octroy duty;
Equitable asset ; Floating charges ;
Inheritance tax ; Marginal productivity ;
Parity of exchange.
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